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WiER EEBEH R SRS

% g & - BARTE Bifg B 2 B @ ® & wmzE
EEATE 2,321,823
ERE 2,321,823 x 77.4% — 8,914 1,788,177
HEEHE 2,321,823 + 1,788,177 4,110, 000
BRI 1,440,545 + 102, 336 1,542, 881
EEAGE 1,440, 545
EEEE 102, 336
< Ottt IR 1,440,545 x 53.85% (35% + (1 — 35%) ) 775,733
EHRIE 1,542,881 + 775,733 2,318,614
—REEEZ 2,318,614 x 53.85% (35% — (1 — 35%) ) — 7,187 1,241,386
BRES T 2,318,614 + 1,241,386 3,560, 000
ES it 4,110,000 + 3,560, 000 7,670, 000
HBEREHELE 7,670,000 x 10.00% 767, 000
HARELE(I5 & 7,670,000 + 767,000 8,437,000




BEANRE EMBEF I ERAEE
% b I - BkTiE B B = i & ) W =
HEATE 3, 864, 704
HREELH 3, 864, 704
HREELH% 3, 864, 704
HEEE 3,576, 056
BEERE 1,144, 807
1 EEERE 1.00 559, 584 559, 584
Ex
2 HAHERR 2FEEHY) 1.00 585, 223 585, 223
Ex
HEEE 2,053, 489
3 EfE - B 1.00 1,595, 367 1,595, 367
|
4 HRREE —REE 17.20 26, 635 458,122
km
4R 260, 360
5 ERAEW —REE 8.00 32, 545 260, 360
km
BiE - |E 117, 400
6 BaTiHE 1.00 58, 700 58, 700
=]
T RRHE 1.00 58, 700 58, 700
=]
HERE 288, 648
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k& 233, 648

8 W& (RIHERH) 1.00 89, 336 89, 336
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9 MR (RIEBLISN) 1.00 144,312 144,312
=y

R 13, 000

10 £BRER 1.00 13, 000 13, 000
=

Z Dt 42,000

11 EITERERE 1.00 42,000 42,000
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HFE5:1
2 IFEER X%y
4 i 3R - ks BT £ B £ = % =
I
A 1..00 70, 900. 00 70, 900
FAEHEA (GRED
A 2.50 62, 200. 00 155, 500
A (A)
A 2.50 55, 200. 00 138, 000
A (B)
A 1..00 45, 300. 00 45, 300
HAf (C)
A 0.50 35, 600. 00 17, 800
B2 EERER
A 1..00 51, 000. 00 51,000
B SRR
A 1..00 44, 000. 00 44,000
B EBETH
A 1..00 34, 300. 00 34, 300
R 2E0Y%
% 0. 50 556, 800. 00 2,784
& F EZReS : 1. 00 559, 584. 00 559, 584
F#E5:2
£ WEIERR QERHY) .
4 i 3R - ks BT £ B £ = % =
HEHE
A 4.00 27, 000. 00 108, 000
cSwvy 11t5&
=] 9.00 40, 368. 00 363, 312|4. 70H / 8H
STFL—uh L— G B R EE) GhEfES J8) 25t H
=] 2.00 55, 500. 00 111, 000 8H
MR 2E0Y%
% 0. 50 582, 312. 00 2,911
& F EZReS : 1.00 585, 223. 00 585, 223
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& 75 1BHE - IR B g B & # wE w =
RBE Z4 b2 2
=] 4.00 3,312.00 13,248 2.00H / 8H
WA R RS MSEESAEEDA L, Bigs, £is
=] 2.00 23,925.00 47,850
Elb £fD 200PSE!
=] 1.00 177, 720. 00 177,720 6.00H / 8H
HEEMR FRP
=] 3.00 58, 410. 00 175, 230 8H
FAE BT (5D
A 3.00 62, 200. 00 186, 600
A (A)
A 4.50 55, 200. 00 248, 400
A& (B)
A 3.50 45, 300. 00 158, 550
2 AT
A 2.00 44, 000. 00 88, 000
BT
A 2.00 34, 300. 00 68, 600
MEHF
A 6. 00 32, 200. 00 193, 200
MERMBE
A 6.00 217, 000. 00 162, 000
AR 20k
% 5.00 1,519, 398. 00 75, 969
a i YE%8EH : 1.0048 1,595, 367. 00 1,595, 367
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BHE 4
&% HERE —REA 1BHY (24.6km)
& 75 1BHE - IR B g B & wE w =
RBE Z4 b2 2
=] 1.00 3,312.00 3,312/2.00H / 8H
Elb £fD 200PSE!
=] 1.00 177, 720. 00 177,720 6.00H / 8H
HEEMH FRP
=] 1.00 58, 410. 00 58, 410/8H
WA R RS MSIEESAEEDA L, Bigs, £is
=] 1.00 23,925. 00 23,925
GNSSRIfI 4 E DGNSS
=] 1.00 25,575.00 25,575
EEREH 141 200kHz
=] 1.00 9, 256. 50 9, 256
FAEHRER (5D
A 1.00 62, 200. 00 62, 200
A (A)
A 1.00 55, 200. 00 55, 200
A& (B)
A 1.00 45, 300. 00 45, 300
B AT
A 2.00 44, 000. 00 88, 000
BT
A 1.00 34, 300. 00 34, 300
MEHF
A 1.00 32, 200. 00 32,200
MEMBE
A 1.00 217, 000. 00 27,000
AR 20k
% 2.00 642, 398. 00 12, 8417
a i 1E%8EH : 24.60km 26, 635. 00 655, 245
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EX: T TC D)
A 12.00 62, 200. 00 746, 400
A (A)
A 16.00 55, 200. 00 883, 200
A (B)
A 16.00 45, 300. 00 724, 800
Bl HEm
A 8.00 44, 000. 00 352, 000
B EHEnE
A 8.00 34, 300. 00 274, 400
BIEBF
A 8.00 32, 200. 00 257, 600
HME 2{KD%
% 0.50 3, 238, 400. 00 16,192
& i YE%8:5 : 100.00k m 32, 545. 00 3, 254,592
HS:6
¥ BATIHE H=ED,
% 7 L - BIRTiE BAf #H = B @ %5 = " =
EXTTC )
A 0.50 62, 200. 00 31, 100
A (A)
A 0.50 55, 200. 00 27, 600
& &t fE%8eH - 1.00E= 58, 700. 00 58, 700
&#5:7
B - RRBRE H=ED,
% 7 L - IRTiE BAf #H = B @ %5 = " =
EX T TC D)
A 0.50 62, 200. 00 31, 100
A (A)
A 0.50 55, 200. 00 27, 600
& it fE%8eH - 1.00E= 58, 700. 00 58, 700
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B RE GRETER) 1KY
2 L7 g - BIRTE By = =i} ) W= " =
REE HEE (GESE)
= 1.00 89, 336. 00 89, 336
& b 1EZ8EA - 1.00 89, 336. 00 89, 336
F5:9
B RE GRETEB L) 1KY
2 L7 g - BIRTE By = B ) W= " =
REE HEE (GESE)
= 1.00 144, 312. 00 144, 312
& b 1EZREA - 1.00 144, 312. 00 144, 312
&S5 :10
B EBBERR 1KY
2 L7 g - BIRTE By = B ) W= " =
EBHERRE
= 1.00 13, 000. 00 13, 000
& b 1EZRER - 1.00 13, 000. 00 13, 000
511
2% EIEERE 1KY
2 L7 g - BIRTE By = =i} ) W= " =
E-AYUTHRE
= 1.00 42,000. 00 42,000
& b 1EZRER : 1.00 42,000. 00 42,000
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BHRES 1
HfREH: F>vo 11t 1B2ZY 4.70H / 8H
% 7 L - IRTiE BT = L= i ] W E 5 =&
8%
L 52.00 131.20 6, 822
BEF (—fR)
A 1.00 17, 000. 00 17,000
BH (v o [EER]) 10~11t5&
B 4.70 1,020. 00 4,794 EERRER
BH (v o [EER]) 10~11t3&
A 1.13 10, 400. 00 11, 752 #“RAR
& &t 40, 368
BHRES : 2
BEREM: ST7TL—20 b—Y BEEAARERR) CHEEES TR 25tH 1THHY 8H
% 7 L - BIRTiE BT = L= i ] W E 5 =&
gH (S7TFL—2vHL—r [hEBEY 25tH
7 A 1.00 55, 500. 00 55, 500
& &t 55, 500
BHRES :3
BlRAM : BEHE 4 b2 2L 1HHY 2.00H / 8H
% 7 L - BIRTiE BT = L= i ] W E 5 =&
AU
L 6. 00 156. 00 936
B (54 AV [ZERERS]) EHTEM HR=E2.0L
B 2.00 290. 00 580 EERRER
B (54 AU [ZERERS]) EHTEM HRE2.0L
A 1.19 1,510.00 1,796 #“RAR
& &t 3,312




BifE ERBEHRMARE
HHRES : 4
BfFAH : 148 $D 200PSH 1B24Y 6.00H / 8H
% 7 i - TR B £ B fE & m % =
A
L 137.00 100. 20 13,721
Ty
A 1.20 27, 300. 00 32,760 8=1.20
HERE
A 1.20 22,000. 00 26,400 8=1.20
BE (GImER) D 200PS%!
BFfE 6. 00 1, 760. 00 10, 560 PEETRC |
BH (GImER) D 200PS%!
=] 1.65 18, 300. 00 30,195 @=1.65 #tAA
RSEEY
% 25. 36 113, 642. 00 28,819
—EEY
% 24.75 142, 461. 00 35, 259
a &t 177,720
HHRES : 5
BlEAH : AELH FRP 1824y 8H
% # g - TR B £ B fF & m % =
BH BAEEM WRREM) ) FRPS
=] 1.65 35, 400. 00 58,410/ @=1.65 #tAA
a &t 58,410




